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o Sohe 14,881

- Ao 2Rsy
205 (77,462, 0002 )-J1 & (65,941,0008) - 1,521
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205 (70,0002 X242 x 122 )-J1 & (70, 00021 x202 x 122 )

- 3,360
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205 (73,538, 0008 )-J| & (67,677,002 - 5,861
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205 (40,807, 0008 )-J| & (38, 177,0008) - 2,630
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o FI|@ 2,830
- 830I5
2 (1200002182 x 128 ) -1 (120, 0002 x6 & x 128)
= 2,880
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= 1,440
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= 1,560
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o sofe
25 (341,655,0009 )-J1 & (335,200,0002 ) = 6,455
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245 (665,556, 00021 x 19/288)| & (665,556, 00021 x 10/288)
- 20,799
o 28s
25 (715,531,00021x19/288)71 & (715,531,000 x10/288)
- 22,361
o e
205 (345,216, 00021 x19/288)-1 & (345,216,000 x 10/288)
- 10,788
o Sohe
25 (355,200, 00021 x 19/288) 71 & (355,200, 00021 x 10/288)
- 1,100
o mIle
205 (311,448, 00021x19/288)-1 & (311,448,000 x 10/288)
- 9,733
o e
205 (245, 101,0002x19/288)- & (245,101,000 x 10/288)
- 7,660
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o HEos
217 (193,685,0002!x19/288)-71 & (193,685, 0002 x10/288)
= 6,053
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217 (265,968, 0002 x19/288)-71 & (265,968, 0002 x10/288)
= 8,312
o HYs
217 (199,579,0009!x19/288)-71 & (199,579, 0002 x10/288)
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217 (166,098, 0002 x19/288)-71 (166,098, 0002 x10/288)
= 5,191
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27 (216,823,0009x19/288)-71 F (216,823, 0002 x10/288)
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- 62
A (155,000 x6H x 128 )-J| & (155,000 x4Hx12& )
= 3,720
- 72
Z A (140,000 x5 x 122 )-J1 & (140,000 x6 Hx 12& )
= A 1,680
- 892
ZH (105,000 x13Hx12& )-J1 = (105,000 x10H x12&)
= 3,780
- IIAZ22XH(62) 300,000 x128x128 = 3,600
o AEJ|IH 2,520
- 8.92(71=8.92)
ZE (105,000 x82x12& )-J1 & (105,000 x6x12& )
= 2,520
o eH 2,520
- 8.92(71=8.92)
ZA(105,000&x8H x 122 )-I1 & (105,000 x6Hx12& )
= 2,520
o AUIS 1,680
- 72
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= 1,680
o AH2E 1,860
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A (155,000 x2H x 128 )-J| & (155,000 x 1Hx12& )
= 1,860
o MHE1S 1,260
- 8.92(01=8.92)
2 (105,000x8H x 122 )-J| A (105,000 x7H x 122)
= 1,260
o HE2s 1,260
- 8,92(71=8,92)
ZE (105,000 x82x12& )1 & (105,000 x7&x12& )
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o &s&S 1,680
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A (140,000 x8 x 12 )-J1 & (140,000 x 78 x12& )
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2 (105,000 x5 x 128 )-I1 & (105,0002 x4 x 122 )
= 1,260
o 52s 1,680
- 73
2 & (140,000 x5 x 122 )-J1 & (140,0002 x4 x 128 )
= 1,680
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TN = 1,648,375 1,641,229 7,146
1,444,105 1,438,380 5,725|05 SeletNES2 A3
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A H(71,515,000% )-8 (65,790,000 ) = 5,725
170,990 169,569 1,421/09 BA2RABN3
o SolH 1,421
- Jle3 65,0002 x12x68 = 390
- 34 4,0002x12x22Lx68 = 528
- WS 1,8008Ix1Hx222x68 = 238
- o= 265
22= 130,000 x1¥x23] = 260
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o PBRIS(MIA 0IF) 26,000
SAHD % D ME 84X 5,000,0008x14 = 5,000
ANHEE S50 NAIG &1
3,000,0002/x 14! - 3,000
S8 WA &5 4.000,0008x14] = 4,000
Serolc A 3,000,0002/x14] = 3,000
QDA &7 8,000,0002/x 14l = 8,000
NERS 9 SRoHYE &
2,000,0002/x14! - 2,000
2y ZeE AN 1,000,0008x14] = 1,000
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a2t g ME L AAE =2 off &b oA = A

-10,000,000& = A 10,000

- 3& =24z Y Flze 22 &X(108)
2 & (22,000,000&)-J1&(12,000,000& ) = 10,000

405
AR S| 204,677 74,510 130, 167
204,677 74,510 130,167 |01 AL EEF SH|

o AEBISZ(AEA 0|A) 116,992
- QIR 20,000,000&x14al = 20,000
- XA A 3,945
AU 185,000&x60 = 1,110
o 135,000&x210H = 2,835
- OXt 91,350&x27H = 2,467
- EHEINH|Y(3E) 256,000& x50 = 12,800
===l 55,000,000&x14l = 55,000
- 3loa A 250,000 x2H = 500
- QIJol JITHH 800,000&x1H = 800
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o QS 457

- 2X 91,350&x504 = 457

o ZoffH 1,050

- HHEIE(0A) 2t2f0 150,000&x74 = 1,050

o HIIH 600

- HgIsl 120,000& x50 = 600

o e2H 866

- oIk 91,350&x44 = 366

- G 250,000&x10H = 250

- AEIH 250,000&x10H = 250
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- ZctZEED| 570,000&x10H = 570
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nj; = J| & ]l im
of & o o = ) -
& 2B HE HME = o & | = oA

- oA WOXH MY
- dEE 4 230
- Zch ZgE)
o tols
- dugy(eraal)

91,3503 x 14

185,000& x 1H

700,000& x 1CH

91,350&x2H

3,500,000& x 1CH

-5,000,000&

5,000,000 x 1CH

570,000& x 1CH
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1250
WM& Zel 86, 160 82,560 3,600
1251
NE 2t 86, 160 82,560 3,600
100
Fatollat 86, 160 82,560 3,600
120
o453 86,160 82,560 3,600
204
R 54,000 50,400 3,600
]
54,000 50,400 3,600/03 S22 =H|
o FEELS
& (100,000& x4 x12& )-I1& (100,000& x3Fx12& )
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o ¥Jd
2 & (100,000&x3Ex12& )-I1& (100,000 x2S x12& )
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= 1,200
A E g 16,073,131 15,512,151 560,980
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